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2010-5-15 H. M.
BRRAIVAAE—%7O045 5L PRINA (RELTXK) #F->T. 72— IARERZTS-HICLEL
*xx memT 7 A ILEERT B,
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# NX NY NZ SPG ORG VOL

58 128 88 14 1 A
# Total SA b+ (& b-) | ambda

236.0 0.0100
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C:¥usr¥axs>SYFR10. exe 1704535 LDEE
<< SYFR V=2010 (2010/05/15) >>
NOTE 2 TMP. files are OPEN, No of ATOM.LE. 200, NDR=24000
file out in text files SYFRDAT. x or SYFR. 3ed
If crystal system is not ortho/mono/triclinic then read the document file!
You can read MEM parameters from memparam. txt
Input comment for this job (<72W)

taurine RT : make a mem file IBYEEaAV FEAND
Input XFILE (1/0)=1 IBhF1EAND
Input XFILE file name=tau-xra. txt 1 ERT—2774)L% (WiE)

read XFILE TITLE=

Taur ine NH2CH2CH2S020H at R.T. 96/04/28 standard sample for AFC5R

Lattice const. = 5.29740 11.67310 7.94950 90.00000 94.05300 90.00000

Input RDFILE (0/1/2)=1 IRt T— 2 FRHAAH BT

read RD-FILE TITLE=

1.00000 6MO 0. 71069AFC5R test 96/4/27 Taurine RT F>bsig 0.000 0.000

read RD number= 1286

Input APFILE (0/1/2/3)=1 |RFEET — 2 RAAAEE

read from [API

read AP-FILE TITLE=

1 7 0 Taurine RT FILES=TAU5. XF, TAUS5.RF

Calc. F(hkl) 0=NO, 1=STANDARD, 2=EXTENDED

Input Structure Factor to calculate (2/1/0)=0 IHFRDAH > THRARFT—F 77
A IVICFcal i nlL. BERFDOHEIFRE, SHLCIE. 1ERL, HESEDHE (HFDDEWNES
[Lh28)

MEM-file output O0=No, 1=Yes(Fo), 2=(Fc), 3=(Fo-Fc), 4=(Fc-Fo): Which=?1 IMEMZ 7 1 JL D YERK

Read MEM parameters from file 0:No, 1:Yes =21 IEV LB ERBLR EEHRHADT
Input MEM-FILE NAME for output=tau—RT.mem Imem”Z 7 A JLD 4RI
h= k= I= Fo= Ac= Bc= Fc= Fd= RLV= sigF=
0 0 -10 -6.06 -6.37 0.00 -6.37 0.31 0.63055 0.24
0 0 -6 52.15 49.59 0.00 49.59 2.56 0.37833 0.14
0 0 -4 -24.50 -23.90 0.00 -23.90 -0.60 0.25222 0.09
0 0 -2 -56.43 -55.59 0.00 -55.59 -0.84 0.12611 0.20
0 0 2 -56.42 -55.59 0.00 -55.59 -0.83 0.12611 0.20
0 0 4 -24.39 -23.90 0.00 -23.90 -0.49 0.25222 0.09
0 0 6 52.21 49.59 0.00 49.59 2.62 0.37833 0.14
0 0 10 -6.20 -6.37 0.00 -6.37 0.17 0.63055 0.25
0 1 -11 -3.78 -3.44 0.00 -3.44 -0.34 0.69492 0.21
0 1 -8 11.95 10.86 0.00 10.86 1.09 0.50625 0.16

Number of reflections= 1286
Sum of Fo= 14956.26  Sum of Fc= 14915.90
R= 0.05074 Scale= 0.99730



type of SYFR 0=NO, 1=Fo, 2=FoxFo, 3=(Fo-Fc)
To synthesis Fc, select SYFR=1 and I0P=9 later.
Input type of Fourier synthesis (3/2/1/0)=0 IETE#RT
O=end of job, 1=Restart I nput=0 17455 LRT
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